CONTENTS

SHEET NUMBER

DRAWING NUMBER

1,2,3

85-03-17 SoftStop® System, MASH(16) End Terminal
2'-1" Mounting Height / TL-2 / Parallel
Model SS 653

R. E¢
\\ Oq&‘...uu.. ke

"'-.9_ GA Q ‘;..\'e.s‘
e ONAL E“‘?\“
g W

FDOT GENERAL NOTES

1. The guardrail Approach Terminal system represented on this drawing is a proprietary design
manufactured by Valtir, LLC and marketed under the trade name SoftStop® System.

2. This drawing is sufficient for plan details for the Softstop® Systern, MASH(16) End Terminal when
installed in connection with shoulder guardrafl and precludes the requirement for shop drawing
submittals unless the plans otherwise call for such submittals. The SoftStop® System, MASH(16)
End Terminal must be assembled in accordance with the manufacturer’s detail drawings, and
current assembly manual as revised and updated at the time of installation.

3. The SoftStop® System, MASH(16) End Terminal is a steel post configuration. Post 0 is an anchor
post, Post 1 & 2 are special 1-part Steel Yielding Terminal Post (SYTP®). Post 3-6 are standard
steel posts.

4. The SoftStop® System, MASH(16) End Terminal is designed for use as an approach end
treatment for single-sided/shoulder guardrail. The beginning lfength of need point is located at Post 3
(see drawing). The Design Length of the SoftStop® System, MASH(16) End Terminal(TL-2) is

33-8 1/2",

The SoftStop® System, MASH(16) End Terminal must be installed as a parallel end treatment and
cannot be used in medians where horizontal clearance requires the use of a backrail.

The SoftStop® System, MASH(16) End Terminal can be attached to guardrail heights from 31" to
27 3/4" with FDOT approved transition.

5. For detail of shouider grading around end treatments and miscellaneous asphalt pavement see
FDOT Standard Plans, Index 536-001.

8. Site Conditions: The SoftStop® System MASH(16) End Terminal is not permitted adjacent to
sidewalks.

7. Site Conditions: A clear and traversable run-out area must be maintained behind and beyond alf
galing terminals.

DRAYIN. DATE: NODEL:
D. Hayes Jr TITI2020 SS653- Rev L
CHECKED, DATE:! THAFFIC DIRECTION:
K. Loonsy TI30/12620 UNI- DIRECTIONAL
UNLESS OTHERWISE NOTED, DIMENSIONS ARE IN MILUMETERS ENCHL | b NOT SCALE 85-03-17 SOftStop@ System,
BMEISIOIS ASCORON o AME A auanw oNe3eas | ™ 0 AWING B@ MASH(16) End Terminal
REVISICN DESCRIPTION ECO | DATE |REV] BY | CHK (2'-1" Mounting Height/ TL-2 / Parallel)
INTIAL RELEASE 58| - |- |- | - FLORIDA APL NO. 536-007-003 VALTIR
GHG BROR, RPLCD TRN INFO 8168 |08/08/22| A | ML | EH
REV: SHEET:
85-03-17 A 1of3

QUS-FEQ4B Rer 0, (060142022}

@ Vaitir, LLC. All rights reserved.



STANDARD FDOT POST —/

BEGIN STANDARD HIGHWAY

W-BEAM GUARDRANL PER FOOT o oo s

Standard Plans, Index 535-001

W-BEAM PANEL"\

2»-_-[- n
271" N

SYSTEM LENGTH - 38-3 1/2"

END ANCHORAGE ASSEMBLY - (33'-8 1/2")

DESIGN LENGTH - 33-8 1/2"

|_——LOCATION

W-BEAM MIDSPAN

[ PANEL SPLICE (TYP) [W-BEAM PANEL

BEGINNING LENGTH OF NEED ——g|

111"

STATION

< TRAFFIC

R

STANDARD GUARDRAIL,

CRRRERER

| ® 1

MISC. ASPHALT PAVT,

®

(LEAVE-OUTS REQ'D AT EACH FOST PER

FHWA MEMORANDUM HBA-10/864-B)

1 ©® ®

| @

i N - R Tt " _ X T T
27 - s ] E_;\\l IMPACT
3 HEAD
R AU SN AR K R SRR A S K R S A A A A A R R R A S R R S S A S R 4 S S SRR R (SRR

|

i

UNLESS O

ELEVATION VIEW

B'-3" TYP ]‘ BLg"
==t

THERWISE NOTED

SYSTEM LENGTH - SoftStop® System, MASH(16) - 38".3 1/2°

4!_7" ’
1

SPECIAL TRANSITION OR ~ g
OTHER SPECIAL TREATMENT END ANCHORAGE ASSEMBLY - (33-8 1/2")
-t - et
- 6I_3II
UNLESS OTHERWISE NOTED
- IMPACT HEAD
! — \ 1
N i i A — 1 \ -
..... BT Te"™e _ | ) ] I i [']E ﬁ—'@b%—_w%A
T DEp
BEG NEE TR tNE T
INNING LENGTH GF D — L LOGATION
STATION
» 114" | 47"
W,
W™ ,
"‘\\“Qe‘. oﬁ" * 'E:ocke ""‘
R s\ 0 .."\c E st'..&) " DRAVH: DATE: WODEL:
-y & W D. Hayes Jr TIT12020 S58653-Rev L
5 K] N o7 5 09 1 . ‘: CHECKED: DATE: TRAFFIC DIRECION,
. * d = (2 -Zozrz . "= K. Looney 713012020 UNI-DIRECTIONAL
- :' G & ': - UNLESS OTHERWISE NOTED, DIVENSIONS ARE N MILLMETERS (INCHL | [y NOT SCALE B—@ 85-03-17 SOﬁStOp@ System,
R LA R SR N s Ao o retEY e mo i sEe | R NG > MASH(16) End Terminal
MODEL SYSTEM SYSTEM DESIGN DESIGN TEST LEVEL “-"p",é/"s‘t]'g OF .‘(5‘.-1" REVISION DESCRIPTION ECO | DAIE [REV] BY [ GHIX (2'-1" Mounting Height / TL-2 / Parallel)
WIDTH LENGTH LENCTH SPEED DESIGNATION 205 N INITIAL RELEASE 7258 FLORIDA APL NO. 535-007-003
SoftSlop® 20"NOM. | 38312 | 33-81/2" | s45MPH | MASH(16) TL-2 "/%\A {opiohies '
’ SORYM N SEE SHT 1 8168 {08/08/22] A | ML | EH
"' S/ asnen ‘\0\\\ DRAWHG: REV: SHEET:
v,/ ONAL B4 85-03-17 2 0f 3

it

wad
GMS-FE-048 Ray D, ((AD172027)

@ Valtir, LLC. All rights reserved.




PARTS LIST
i|\rlq%TTl/EJ\:LL SoftStop® PARALLEL TO ROADWAY PARTID. ATV, DESCRIFTION
oftStop! . .
WHEN OFFSET IS REQUIRED BY DESIGN ENGINEER, 000011 | 2 \12/126i31.5/5
ggg ?&%ﬁgﬁﬁ@ §,18E S%MPOSITE BLOCKS) MANUAL BAGK OF POST #2 - #5 000533 | 4 |6-0"POST/W 6X8.5%
‘ I’H MASH TEST LEVEL 2 (TL-2) LENGTH OF SoftStop® TERMINAL (383 1/2) CENTERLINE OF POSTS #0 & #1-- VARIOUS | § |8IN COMPOSITE BLK
| LENGTH OF NEED \ * 015000 | 1 |60 POST/B.5/SYT-POSTIT:25
anwtig, N 7 Rl - 015200 | 1 |SFST-ANCHOR G.RAIL 126"
Wet R Eo Y, 3| Parss l,\ © 015202 | 1 |SFST-ANGLE STRUT
K Q@ vesvan, lfe (A g — — ; I 7 ;
S RNCENG S, - - 1 LI e 7 015203 | 1 |SFST-POST#1 SYTP
& » & - % | C / \\ B 015204 | 1 |SFST-ANCHOR PADDLE
Sas 5 N:JZ 75091 % 2 015205 | 1 |SFST-POSTH#D
- 2 —l2Z-Zozz M=
s U= 015208 | 1 |SFST-
2. PE @ O) @ © TIMPACT HEAD
5116‘%[' M' 3 | 1323 12" +
.;‘ O .' TA 0 . w‘: 3. '”2" 6.3" 63" B-3" 6. 3u ~ 1_gn 1 o HARDWARE K]T 034429
% 42(\ 2 0r1D é‘" DAL - e - — - S — 58 e AT - 003240 | 6 |WASHERFLAT.5/16 W.TY A.G
“ S ..ﬁ.‘.-v;\@\ N 003360 003380 | 003360 003360 F 003360 003360 G | SEENOTE® | REFERENGE LINE 003245 | 3 |5/16" HEXNUT A563
7 ' NA\.Q N 8X J_ 8% N, g b ax \!\ e ¥ / PARALLEL TO GRADE 003340 31 |NUT,HX,5/8,G,RAIL
'ljn||‘|\‘ - . ._1 . a 1\ - _.\ — -
B N - " . " bo " N " L 5 //"‘r‘ 003360 | 24 |56/8'X1.25" GR BOLT
Rl S - R - | i L e A 003391 | 1 |5/8%1.75" HEX BOLT A325
B 000011 / i 900011 / 015200 015208 / l ‘ 003500 | & |BOLT,RAILS/B-11X10
ST NI — J | Y 1 003701 | 4 |3M4"ROUND WASHER F436
NG VIl e N 1] - "
KX DO NOT ATTAGH ~ 003704 | 2 |[3/4"HVY HEX NUT A563 DH
} RAIL AT POST #2 | 003717 | 2 |[3/4"X2.5" HEX BOLT A325
; [ 5 003908 | 1 |1"HVY HEX NUT AS63 DH
| i i | © 004372 | 4 |WASHER.FLAT,5/8,HARD,TY 1,G
@ 004489 | 1 |5/8'X9" HEX BOLT A325
004902 E G 004902 | 1 |[1"ROUND WASHER F436
003704 015207 il 015201 | 2 |SFST-ANCHOR ANGLE
003701 015204 7~ 003908 015202 & B 015206 | 1 |SFST-PLATE WASHER
éEI\CI)llJJE EIL%\?\%_.FL GBP:ETE o 015207 | 1 |SFST-KEEPER PLATE
105285 IGHTEN YIELDING HOLES 105286 | 2 |5/16" X 2.5" HEX BOLT GRD 5
2 PLACES \  ARTER FINAL ASSEMBLY, APPROXIMATELY
BUT NOT DEFORMING THE 604372 CENTERED AT 105286 | 1 [5/16"X 1.5' HEX BOLT GRD 6
KEEPER PLATE (015207) _bod DETAIL1  grounpLiNg
003701 003240 POSTS #1 & #2
- 015206 015205 003340 015208 1 — ] 003500 - ——
003500 Z DO NOT ATTAGH ]
\¢ 015204 32\ RAIL AT POST #2 2|
~ 2 PLACES 000011 _,,< | 015200 . 003340
016200 -/ | DETAIL C T 005340 Y o15000
S (POST #1, SHOWN NEAR GROUND) 00 105286 & o v 100U
FLATTENED | o ] S~ VARIOUS 000533 VARIOUS
(4 PLIES) / . 003240 ™. 000533
N\ - £03240
bl ’ é _— J—
L2
016202 / 015201 LY 015202 016201 004372 004489 015203 » i
POST #0 105285 YA < o
(ORIENT SO VERTICAL © i ¢ :
LEG IS DOWN) \ \_/ T \\\/\\\/\ o5 K \\K\\/\ \GS
015205 004902
i N ey DETAIL D
DETAILA i (FosT#Y SECTION F-F SECTION G-G
1. REFER TO SoftStop® (8" COMPOSITE BLOCKS) ASSEMBLY MANUAL, 7 1
2. PROPER SITE GRADING SHOULD BE ACCOMPLISHED IN ACCORDANGE WITH = - - —
E{é(g:%ngﬁ%EwNG AGENCY GUIDELINES AND THE AASHTO ROADSIDE 015200 /  o15204 016201 004372 D, Hayes Jr e I2000 S5653-Rev L
* CHECREL: DATE! TRAFFIC DIREC H:
3. DO NOT ATTACH THE SolitStop® BIRECTLY TC A RIGID BARRIER. 003340 K. Looney 7/30/2020 Uf\iﬁDERECTiONAL 1
4, gg%%%\!\;gDCIRCUMSTANCES SHALL THE GUARDRAIL WITHIN THE SoftStop® DETAIL B — UNLEGS OTHERVSE NOTED, DIRENSIONS ARE IN MILUIMETERS BNcH: | by NOT SCALE B @ 85-03-17 SofiStop® System, P~
- _— DIMENSIONS ACCORDING TO ASME Y14.5-2018 AND QY o 4 i
5. MANUFAGTURER SUGGESTS CUSTOMER TO PROVIDE REFLEGTORIZATION OF (AT ANCHOR POST #0) itess oncmse seeois. | DRAWING .. . MASH(16} End Termiral t
THE TERMINAL. REVISION DESGRIFTION ECO | DATE IREV] BY [ CrK (2'-1" Mounting Height/ TL-2 / Parallel) VALTIR
6. IT 1S ACCEPTABLE TO INSTALL THE SoftStop® IMPACT HEAD PARALLEL TO THE INITIAL RELEASE 7258 - N I FLORIDA APL NO. 536-007-003
ggé\gﬁlg%% To/;;\; Ijl\SJ?TH AN UPWARD TILT. SEE SoftStop® ASSEMBLY MANUAL FOR o P Y R RV = ]
85-03-17 A 30f3

w——
QMS-FE-043 Rev 0, (06012022}

® Valtir, LLC. All rights reserved,



